
ラプラス演算子の極座標表現 

 

∇≡ 𝒙̂
𝜕

𝜕𝑥
+ 𝒚̂

𝜕

𝜕𝑦
+ 𝐳̂

𝜕

𝜕𝑧
 

 

=(∇𝑥)
𝜕

𝜕𝑥
+ (∇𝑦)

𝜕

𝜕𝑦
+ (∇𝑧)

𝜕

𝜕𝑧 
       (1) 

∇𝑥 = (𝒙̂ 
𝜕

𝜕𝑥
+ 𝒚̂

𝜕

𝜕𝑦
+ 𝒛̂

𝜕

𝜕𝑧
 

) 𝑥 

{
𝑥 = 𝑟 sin 𝜃 cos𝜑
𝑦 = 𝑟 sin 𝜃 sin𝜑
𝑧 = 𝑟 cos𝜃

                (2) 

ここで 

𝜕

𝜕𝑟

 

=
𝜕𝑥

𝜕𝑟

𝜕

𝜕𝑥
+
𝜕𝑦

𝜕𝑟

𝜕

𝜕𝑦
+
𝜕𝑧

𝜕𝑟

∂

∂z
 

    
𝜕

𝜕𝜃
=   
𝜕𝑥

𝜕𝜃

𝜕

𝜕𝑥
+
𝜕𝑦

𝜕𝜃

𝜕

𝜕𝑦
+
𝜕𝑧

𝜕𝜃

∂

∂z
                  

   
𝜕

𝜕𝜑
=   

𝜕𝑥

𝜕𝜑

𝜕

𝜕𝑥
+
𝜕𝑦

𝜕𝜑

𝜕

𝜕𝑦
+
𝜕𝑧

𝜕𝜑

∂

∂z
             

 まとめて行列表現すると 

(

 
 
 
 

𝜕

𝜕𝑟

 

𝜕

𝜕𝜃
𝜕

𝜕𝜑 )

 
 
 
 

=

(

 
 
 
 

𝜕𝑥

𝜕𝑟

𝜕𝑦

𝜕𝑟

𝜕𝑧

𝜕𝑟
𝜕𝑥

𝜕𝜃

𝜕𝑦

𝜕𝜃

𝜕𝑧

𝜕𝜃
𝜕𝑥

𝜕𝜑

𝜕𝑦

𝜕𝜑

𝜕𝑧

𝜕𝜑)

 
 
 
 

(

 
 
 
 

𝜕

𝜕𝑥
𝜕

𝜕𝑦
∂

∂z)

 
 
 
 

 

= (𝑟

sin 𝜃 cos𝜑 sin 𝜃 sin𝜑 cos𝜃
cos𝜃 sin𝜑 𝑟cos𝜃 sin𝜑 −𝑟sin 𝜃
𝑟 sin 𝜃 sin𝜑 𝑟 sin 𝜃 cos𝜑 0

)

(

 
 
 
 

𝜕

𝜕𝑥
𝜕

𝜕𝑦
∂

∂z)

 
 
 
 

 

(

 
 
 
 

𝜕

𝜕𝑥
𝜕

𝜕𝑦
∂

∂z)

 
 
 
 

=

(

 
 
 
sin 𝜃 cos𝜑

1

𝑟
sin 𝜃 sin𝜑 −

sin𝜑

𝑟 sin 𝜃

sin 𝜃 sin𝜑
1

𝑟
cos𝜃 sin𝜑

cos𝜑

𝑟 sin 𝜃

cos𝜃 −
1

𝑟

 

sin 𝜃 cos𝜑 0 )

 
 
 

(

 
 
 
 

𝜕

𝜕𝑟

 

𝜕

𝜕𝜃
𝜕

𝜕𝜑 )

 
 
 
 

 

これはまた 

 



 

  

(

 
 
 
 

𝜕

𝜕𝑥
𝜕

𝜕𝑦
∂

∂z)

 
 
 
 

=

(

 
 
 
 

𝜕𝑟

𝜕𝑥

𝜕𝜃

𝜕𝑥

𝜕𝜑

𝜕𝑥
𝜕𝑟

𝜕𝑦

𝜕𝜃

𝜕𝑦

𝜕𝜑

𝜕𝑦
𝜕𝑟

𝜕𝑧

𝜕𝜃

𝜕𝑧

𝜕𝜑

𝜕𝑧)

 
 
 
 

(

 
 
 
 

𝜕

𝜕𝑟

 

𝜕

𝜕𝜃
𝜕

𝜕𝜑 )

 
 
 
 

 

∴ ∇= 𝒙̂ (
𝜕𝑟

𝜕𝑥

𝜕

𝜕𝑟
+
𝜕𝜃

𝜕𝑥

𝜕

𝜕𝜃
+
𝜕𝜑

𝜕𝑥

𝜕

𝜕𝜑

 

) 

+𝒚̂ (
𝜕𝑟

𝜕𝑥

𝜕

𝜕𝑟
+
𝜕𝜃

𝜕𝑥

𝜕

𝜕𝜃
+
𝜕𝜑

𝜕𝑥

𝜕

𝜕𝜑

 
) 

+𝒛̂ (
𝜕𝑟

𝜕𝑥

𝜕

𝜕𝑟
+
𝜕𝜃

𝜕𝑥

𝜕

𝜕𝜃
+
𝜕𝜑

𝜕𝑥

𝜕

𝜕𝜑

 

) 

=(𝒙̂
𝝏𝒓

𝝏𝒙
+ 𝒚̂

𝝏𝒓

𝝏𝒚
+ 𝐳̂

𝝏𝒓

𝝏𝒛 
)
𝝏

𝝏𝒓
 

+(𝒙̂
𝜕𝜃

𝜕𝑥
+ 𝒚̂

𝜕𝜃

𝜕𝑦
+ 𝐳̂

𝜕𝜃

𝜕𝑧
 

)
𝜕

𝜕𝜃
 

+(𝒙̂
𝜕𝜑

𝜕𝑥
+ 𝒚̂

𝜕𝜑

𝜕𝑦
+ 𝐳̂

𝜕𝜑

𝜕𝑧
 

)
𝜕

𝜕𝜑
 

=(∇𝑟)
𝜕

𝜕𝑟
+ (∇𝜃)

𝜕

𝜕𝜃
+ (∇𝜑)

𝜕

𝜕𝜑
 

∇𝑟 = 𝒙̂ sin 𝜃 cos𝜑 + 𝒚̂ sin 𝜃 sin𝜑 + 𝐳̂ cos𝜃 

|∇𝑟| = 1    ∴ ∇𝑟 = 𝒓̂ 

∇𝜃 = 𝒙̂
1

𝑟
cos𝜃  cos𝜑 + 𝒚̂

1

𝑟
cos𝜃 sin𝜑 − 𝐳̂ 

sin 𝜃

𝑟

 

 

|∇𝜃  |  =
1

𝑟
      ∴ 𝜽̂ = 𝑟(∇𝜃)  

∇𝜑 = −𝒙̂
sin𝜑

𝑟 sin 𝜃
+ 𝒚̂

cos𝜑

𝑟 sin 𝜃
 

|∇𝜑 |=
1

𝑟 sin𝜃
   ∴= 𝑟 sin 𝜃( ∇𝜑 ) 

∇= (∇𝑟)
𝜕

𝜕𝑟
+ (∇𝜃)

𝜕

𝜕𝜃

 

+ (∇𝜑 )
𝜕

𝜕𝜑
 

= 𝒓̂
𝜕

𝜕𝑟
+ 𝜽̂

1

𝑟

𝜕

𝜕𝜃

 

+ 𝝋̂
𝟏

𝑟 sin 𝜃

𝜕

𝜕𝜑
 



(
𝒓̂
𝜽̂
𝝋̂
) = (

sin 𝜃 cos𝜑 sin 𝜃 sin𝜑 cos𝜃
cos𝜃 cos𝜑 cos𝜃 sin𝜑 −sin𝜃
− sin𝜑 cos𝜑 0

)(
𝒙̂
𝒚̂
𝐳̂

) 

𝜕𝒓̂

𝜕𝑟
= 0

𝜕𝒓̂

𝜕𝜃
= 𝒙̂ cos 𝜃 cos𝜑 + 𝒚̂ cos 𝜃 sin𝜑 − 𝐳̂ sin 𝜃 = 𝜽̂

𝜕𝒓̂

𝜕𝜑
= −𝒙̂ sin 𝜃 sin𝜑 + 𝒚̂ sin 𝜃 cos𝜑 = sin 𝜃𝝋̂

𝜕𝜽̂

𝜕𝑟
= 0

𝜕𝜽̂

𝜕𝜃
= −𝒙̂ sin 𝜃 cos𝜑 − 𝒚̂ sin 𝜃 sin𝜑 − 𝐳̂ cos𝜃 = −𝒓̂

𝜕𝜽̂

𝜕𝜑
= −𝒙̂ cos𝜃 sin𝜑 + 𝒚̂ cos𝜃 cos𝜑 = cos𝜃 𝝋̂

𝜕𝝋̂

𝜕𝑟
= 0,

𝜕𝝋̂

𝜕𝜃
= 0

𝜕𝝋̂

𝜕𝜑
= −𝒙̂ cos𝜑 + 𝒚̂ sin𝜑 = −sin 𝜃 𝒓̂ − cos𝜃𝜽̂

 

 

∆= ∇ ∙ ∇= (𝒓̂
𝜕

𝜕𝑟
+ 𝜽̂

1

𝑟

𝜕

𝜕𝜃

 

+ 𝝋̂
𝟏

𝑟 sin 𝜃

𝜕

𝜕𝜑
) ∙ (𝒓̂

𝜕

𝜕𝑟
+ 𝜽̂

1

𝑟

𝜕

𝜕𝜃

 

+ 𝝋̂
1

𝑟 sin 𝜃

𝜕

𝜕𝜑
) 

= 𝒓
𝜕

𝜕𝑟

̂
∙ (𝒓̂

𝜕

𝜕𝑟
+ 𝜽̂

1

𝑟

𝜕

𝜕𝜃

 

+ 𝝋̂
1

𝑟 sin 𝜃

𝜕

𝜕𝜑
) 

+𝜽̂
1

𝑟

𝜕

𝜕𝜃

 

∙ (𝒓̂
𝜕

𝜕𝑟
+ 𝜽̂

1

𝑟

𝜕

𝜕𝜃

 

+ 𝝋̂
1

𝑟 sin 𝜃

𝜕

𝜕𝜑
) 

+𝝋̂
1

𝑟 sin 𝜃

𝜕

𝜕𝜑
∙ (𝒓̂

𝜕

𝜕𝑟
+ 𝜽̂

1

𝑟

𝜕

𝜕𝜃

 

+ 𝝋̂
1

𝑟 sin 𝜃

𝜕

𝜕𝜑
) 

= 𝒓̂ ∙ 𝒓̂
𝜕2

𝜕𝑟2
+ 𝒓̂ ∙ 𝜽̂

𝜕

𝜕𝑟
(
1

𝑟

𝜕

𝜕𝜃

 
)+𝒓̂ ∙ 𝝋̂

𝜕

𝜕𝑟
(

1

𝑟 sin𝜃

𝜕

𝜕𝜑
) 

+𝜽̂
1

𝑟
∙ (𝜽̂

𝜕

𝜕𝑟
+ 𝒓̂

𝜕2

𝜕𝜃𝜕𝑟 
)+𝜽̂

1

𝑟
(−𝒓̂

1

𝒓

𝜕

𝜕𝜃
+ 𝜽̂

1

𝑟

𝜕2

𝜕𝜃2

 

) 

+𝜽̂
1

𝑟
∙ (𝝋̂

𝜕

𝜕𝜃
(

1

𝑟 sin 𝜃

𝜕

𝜕𝜑
)) 

+𝝋̂
1

𝑟 sin 𝜃
(sin 𝜃𝝋̂

𝜕

𝜕𝑟
) + 𝝋̂

1

𝑟 sin 𝜃
∙ (cos𝜃 𝝋̂

1

𝑟

𝜕

𝜕𝜃
) + 𝝋̂

1

𝑟 sin 𝜃
∙ (𝝋̂

1

𝑟 sin 𝜃

𝜕2

𝜕𝜑2
) 

=
𝜕2

𝜕𝑟2
+
1

𝑟

𝜕

𝜕𝑟

 

+
1

𝑟2
𝜕2

𝜕𝜃2
+
1

𝑟

𝜕

𝜕𝑟
+

cos𝜃

𝑟2 sin𝜃

𝜕

𝜕𝜃
+

1

𝑟2 sin2 𝜃

𝜕2

𝜕𝜑2
 

 


